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Theorem 
 If two secants intersect in the interior of a circle, then the measure of the 
angle formed is equal to one-half of the sum of the measures of the intercepted 
arcs. 
      
Example: 
 From the given figure, ݉ܥܣ� ൌ ͺͲι and 

ܤܦ݉ ൌ ͶͲιǡ find ݉ܥܧܣ������. 
Solution: 
�ܥܧܣ������݉  ൌ ଵ

ଶ
 (ܤܦ݉ ൅ ܥܣ݉) 

                       ൌ ଵ
ଶ
ሺͺͲι ൅ ͶͲιሻ 

��ܥܧܣ������݉  ൌ ͸Ͳι 
 
 
Exercises: 
                  
                Point C is the center of the circle. 
                      Secants ܱܯശሬሬሬሬሬԦ and ܲܰശሬሬሬሬԦ intersect at point Q.  
                 
 
 
 
Answer the following using the figure above.  
1) If ܱ݉ܰ� ൌ ͳͲͲι and ݉ܲܯ� ൌ ͳͳͲιǡ find ݉ܲܳܯ������. 
2) If ݉ܰܯ ൌ ͺͷι and ܱ݉ܲ ൌ ͸Ͳιǡ find ݉������ܱܲܳ.  
 
Skills: From the example above, what is the measure of ܥܧܤ������? Justify your 

answer. 
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